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[요지]

1)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 1]

Inspired� by� the� pioneering� work� of� the�

psychologists� Daniel� Kahneman� and� the� late�

Amos� Tversky,� this� field� has� cataloged� a� large�

inventory� of� behavioral� anomalies� in� which�

people� clearly� violate� the� predictions� and�

prescriptions� of� standard� economic� models.� It�

is� common,� for� example,� for� someone� to� be�

willing� to� drive� across� town� to� save� $10� on� a�

$20� clock� radio,� but� unwilling� to� do� so� to�

save� $10� on� a� $1,000� television� set.� Yet� the�

benefit� of� making� the� drive� is� $10� in� each�

case.� So� if� the� implicit� cost� of� the� drive� were�

less� than� $10,� a� rational� person� would� drive�

across� town� in� both� cases.� People� often�

explain� their� reluctance� to� make� the� drive� for�

the� television� by� saying� the� $10� savings� is�

such� a� small� percentage� of� its� price.� But� a�

rational� person� reckons� benefits� and� costs� in�

absolute� terms,� not� as� percentages.

①� 사람들은� 항상� 합리적으로� 이익과� 비용을� 계산해�

행동한다.

②� 사람들은� 합리적� 경제� 모델에� 따라� 일관된�

판단을� 내린다.

③� 인간의� 경제적� 판단은� 합리적� 계산이� 아닌�

심리적� 요인에� 영향을� 받는다.

④� 경제적� 판단은� 비용과� 이익의� 비율로� 결정된다.

⑤� 인간의� 소비� 습관은� 가격과� 무관하게� 일정하다.

2)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 2]

Regardless� of� their� generation,� everyone� wants�

to� be� valued,� respected,� and� heard.� But� each�

one� of� us� might� express� our� thoughts� and�

receive� information� differently.� One� of� my�

clients� was� struggling� with� how� some� of� their�

Baby� Boomer� employees� were� trying� to� build�

personal� relationships� with� Millennial�

employees.� A� few� of� these� employees� read�

articles� that� recommended� specific� methods�

for� communicating� with� each� generation.� The�

Boomer� employees� then� went� on� to� use� this�

information� to� inform� how� they�

communicated� with� all� of� their� coworkers� of�

various� generations.� They� walked� to� the�

offices� of� their� Baby� Boomer� peers,� emailed�

Gen� X� colleagues,� and� texted� Millennials.� On�

the� surface,� this� seemed� fine,� but� it� soon�

started� to� stir� up� some� controversy� because�

people� did� not� understand� why� they� were�

getting� an� email,� when� someone� else� was�

getting� a� face-to-face� conversation.� By� limiting�

in-person� conversation� to� only� certain�

coworkers,� these� employees� unintentionally�

made� others� feel� left� out� and� undervalued.

①� 모든� 세대는� 동일한� 방식으로� 소통해야� 한다.

②� 세대별� 소통� 방식에� 맞춰� 대화하는� 것이�

효과적이다.

③� 특정� 세대를� 위한� 소통� 방식은� 다른� 세대에게�

배타적인� 인상을� 줄� 수� 있다.

④� 이메일과� 대면� 대화는� 소통� 효과에� 차이가� 없다.

⑤� 세대� 간� 소통� 문제는� 기술적� 발전으로� 해결될� 수�

있다.
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3)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 3]

Our� species� has� been� making� music� most�

likely� for� as� long� as� we've� been� human.� It�

seems� to� be� an� indelible� part� of� us.� The�

oldest� known� musical� instruments� date� back�

to� the� Upper� Paleolithic� period,� some� 40,000�

years� ago.� Among� the� most� intriguing� of�

these� are� delicate� bone� flutes,� seen� in� Figure�

1.1,� found� in� what� is� now� southern� Germany.�

These� discoveries� testify� to� the� advanced�

technology� that� our� ancestors� applied� to�

create� music:� the� finger� holes� are� carefully�

bevelled� to� allow� the� musician's� fingers� to�

make� a� tight� seal;� and� the� distances� between�

the� holes� appear� to� have� been� precisely�

measured,� perhaps� to� correspond� to� a� specific�

musical� scale.� This� time� period� corresponds� to�

the� last� glaciation� episode� in� the� Northern�

Hemisphere� —� life� could� not� have� been� easy�

for� people� living� at� that� time.� Yet� time,�

energy,� and� the� skills� of� craftworkers� were�

expended� for� making� abstract� sounds� "of� the�

least� use� ...� to� daily� habits� of� life."� So,� music�

must� have� been� very� meaningful� and�

important� for� them.

①� 음악은� 현대에� 들어서야� 인류의� 삶에� 중요한�

역할을� 하게� 되었다.

②� 초기� 인류는� 음악보다� 생존에� 더� 집중했다.

③� 음악은� 오래전부터� 인간에게� 중요한� 의미와�

가치를� 지녀왔다.

④� 음악은� 고대� 문명� 이후에만� 발전하기� 시작했다.

⑤� 음악적� 기술은� 산업혁명� 이후에� 발전했다.

4)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 4]

Sometimes,� even� seemingly� unlucky� starts� turn�

out� to� make� long-run� success� more� likely.�

Gladwell� cites� the� experience� of� Jews� who�

immigrated� to� New� York� in� the� early�

twentieth� century� and� went� on� to� prosper� in�

the� garment� industry.� Many� raised� children�

who� graduated� from� law� school,� only� to� be�

rejected� by� leading� New� York� law� firms,�

which� in� those� days� hired� mostly� lawyers� from�

wealthy� Protestant� families.� Jewish� graduates�

were� often� left� with� few� better� options� than�

to� start� small� firms� of� their� own.� Those� firms�

often� specialized� in� cases� that� the� elite� law�

firms� felt� were� beneath� them,� such� as� the�

litigation� of� hostile� corporate� takeovers.� The�

lawyers� raised� by� garment� workers� were� thus�

often� the� only� ones� who� had� developed� the�

expertise� to� capitalize� on� the� explosive� growth�

of� hostile� takeover� litigation� that� occurred� in�

the� 1970s� and� 1980s.� By� dominating� that�

new� market,� they� went� on� to� earn� vastly�

more� than� the� lawyers� in� the� firms� that� had�

earlier� shunned� them.

①� 초기의� 불운한� 시작은� 장기적으로� 성공의� 발판이�

될� 수� 있다.

②� 사회적� 차별은� 성공을� 방해하는� 주요� 요인이다.

③� 초기의� 직업� 선택은� 장기적인� 성공과� 무관하다.

④� 경제적� 성공은� 출신� 배경에� 따라� 결정된다.

⑤� 사회적� 배제는� 개인의� 경제적� 발전을� 막는다.
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5)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 5-6]

Let’s� take� a� classical� example� from� cognitive�

psychology:� the� effect� of� word� processing�

depth.� Imagine� that� I� present� a� list� of� sixty�

words� to� three� groups� of� students.� I� ask� the�

first� group� to� decide� whether� the� words’�

letters� are� upper-� or� lowercase;� the� second�

group,� whether� the� words� rhyme� with� “chair”;�

and� the� third,� whether� they� are� animal� names�

or� not.� Once� the� students� are� finished,� I� give�

them� a� memory� test.� Which� group� remembers�

the� words� best?� Memory� turns� out� to� be�

much� better� in� the� third� group,� who�

processed� the� words� in� depth,� at� the� meaning�

level� (75� percent� success),� than� in� the� other�

two� groups,� who� processed� the� more�

superficial� sensory� aspects� of� the� words,� either�

at� the� letter� level� (33� percent� success)� or� the�

rhyme� level� (52� percent� success).� We� do� find�

a� weak� implicit� and� unconscious� trace� of� the�

words� in� all� groups:� learning� leaves� its�

subliminal� mark� within� the� spelling� and�

phonological� systems.� However,� only� in-depth�

semantic� processing� guarantees� explicit,�

detailed� memory� of� the� words.� The� same�

phenomenon� occurs� at� the� level� of� sentences:�

students� who� make� the� effort� to� understand�

sentences� on� their� own,� without� teacher�

guidance,� show� much� better� retention� of�

information.� This� is� a� general� rule,� which� the�

American� psychologist� Henry� Roediger� states�

as� follows:� “Making� learning� conditions� more�

difficult,� thus� requiring� students� to� engage�

more� cognitive� effort,� often� leads� to� enhanced�

retention.”

①� 표면적인� 정보� 처리가� 학습에� 더� 효과적이다.

②� 학습은� 외부� 자극의� 반복을� 통해� 강화된다.

③� 깊이� 있는� 정보� 처리가� 기억력� 향상에�

효과적이다.

④� 교사의� 지도가� 없는� 학습은� 비효율적이다.

⑤� 학습의� 효과는� 반복� 학습의� 빈도에� 비례한다.

6)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 7]

A� successful� farming� community� could� support�

in� a� small� region� a� much� greater� population�

than� the� foragers� could� have.� There� were,�

however,� very� significant� downsides� to� this�

new� way� of� life.� First� of� all,� storms,� droughts,�

floods,� torrential� rains,� and� other� severe�

weather� anomalies� could� be� disastrous� for� a�

farming� community� while� posing� only� a� major�

nuisance� to� foragers.� The� latter,� with� their�

minimal� light-weight� possessions,� could� fairly�

easily� up� and� move� to� some� other� area� where�

the� damage� was� not� so� great.� But,� more�

importantly,� the� natural� home� they� depended�

on� was� much� less� likely� to� be� severely�

damaged� than� were� the� crops� and� structures�

the� agricultural� community� relied� on.� By�

replacing� their� natural� home� with� an� artificial�

construction,� the� farmers,� paradoxically�

enough,� had� made� themselves� more�

vulnerable� to� natural� disasters;� in� fact,� natural�

events� that� were� not� at� all� disasters� for� the�

foragers� became� disasters� for� them.

①� 농경� 생활은� 자연재해에� 더� 강한� 저항력을�

제공한다.

②� 수렵� 채집� 생활은� 농경� 생활보다� 비효율적이다.

③� 농경� 생활은� 자연재해에� 더� 취약하게� 만든다.

④� 농경� 사회는� 기후� 변화에� 적응하기� 쉽다.

⑤� 농경� 생활은� 자연� 환경의� 안정성을� 보장한다.
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7)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 8]

There� are� special� situations� in� which� people�

may� know� dozens,� if� not� hundreds,� of� distinct�

words� for� colors.� The� Dulux� brand� of� house�

paints� has� more� than� two� thousand� colors� in�

its� commercial� palette.� Many� of� these� are�

labeled� with� unique� (and� decidedly� nonbasic)�

English� names:� violet� posy,� wing� commander,�

Aztec� tan.� But� even� allowing� nonbasic� terms�

and� even� allowing� the� highly� specialized�

vocabulary� of� the� paint� industry,� the�

distinctions� that� languages� make� in� the� color�

space� are� astronomically� small� in� comparison�

to� well� over� 2� million� distinctions� in� color� that�

the� human� eye� can� discern.� Even� in� highly�

specialized,� technical� vocabularies,� the� total�

inventory� of� color� terms� in� use� makes� less�

than� one-tenth� of� 1� percent� of� the� discernible�

distinctions� in� color� that� the� human� visual�

system� can� make.� The� everyday� vocabulary�

that� most� people� use� will� be� one� hundred�

times� less� than� that� again.� Our� perceptual�

experience� is� rich,� but� our� language� comes�

nowhere� close� to� that� richness.� If� you� think�

that� language� is� good� for� capturing�

perceptual� experience,� think� again.

①� 인간의� 언어는� 색깔� 인지� 능력을� 완벽히� 표현할�

수� 있다.

②� 전문� 용어는� 인간의� 색� 인식� 범위를� 확장시킨다.

③� 인간의� 언어는� 색깔� 인지의� 풍부함을� 완전히�

포착하지� 못한다.

④� 인간의� 색깔� 인식� 능력은� 제한적이다.

⑤� 색에� 대한� 언어적� 구분은� 본능적으로� 결정된다.

8)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 9]

In� Britain,� large� open� areas� of� land� known� as�

the� commons� were� the� property� of�

land-owning� nobility� but� were� accessible� for�

use� by� peasants.� They� used� the� commons� to�

conduct� small-scale� agriculture,� to� collect�

wood� for� fuel� and� cooking,� and� to� raise� small�

amounts� of� livestock� for� their� families.� As�

global� demand� for� wool� to� be� used� in�

clothing� and� other� goods� increased,�

landowners� sought� more� grazing� land� to�

increase� wool� production,� so� they� privatized�

the� commons,� fencing� them� off� and� thus�

cutting� off� access� to� the� peasants.� By� this�

process� of� the� enclosure� of� the� commons,�

peasants� were� cut� off� from� land� that� had�

been� their� primary� resource� for� survival� for�

centuries.� Today,� there� are� interesting�

correlations� between� the� physical� commons� of�

English� pasturelands� and� the� digital� commons�

of� the� internet.� Both� are� rich� with�

opportunities� for� self-subsistence,� expression,�

flourishing;� both� are� full� of� challenges� from�

enclosure� and� landlords� (e.g.,� platform� owners�

who� charge� fees� for� access� or� use).

①� 공유지의� 사유화는� 경제� 성장과� 공동체� 발전에�

기여한다.

②� 과거의� 공유지� 문제는� 현대� 사회에서� 더� 이상�

적용되지� 않는다.

③� 공유지의� 사유화는� 공동체의� 자립� 기반을�

약화시키고,� 디지털� 환경에서도� 유사한� 현상이�

나타난다.

④� 공유지의� 사유화는� 환경� 보호와� 자원� 보존을�

촉진한다.

⑤� 디지털� 공유지는� 현실� 세계의� 공유지� 문제와는�

본질적으로� 다르다.
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9)� 다음� 글의� 요지로�가장� 적절한�것은?

[Exercise� 10]

The� reason� listening� can� be� so� difficult�

appears� to� be� our� narcissistic� disposition.� Too�

often,� we� pretend� to� be� listening� while� our�

mind� is� racing� in� trying� to� think� of� something�

clever.� However,� being� clever� is� not� being�

wise.� In� addition,� to� exacerbate� our� narcissistic�

tendencies,� there� is� also� the� kind� of� listening�

with� half� an� ear� that� presumes� that� we�

already� know� what� the� other� person� is� going�

to� say.� I� am� referring� to� an� inattentive�

listening,� only� waiting� for� a� chance� to� speak,�

and� even� becoming� impatient,� wishing� to� get�

rid� of� the� other� person.� As� the� philosopher�

and� poet� Ralph� Waldo� Emerson� once� said,�

'There� is� a� difference� between� truly� listening�

and� waiting� for� your� turn� to� talk.'� This� urge�

to� interrupt� and� get� a� word� in� can� be� quite�

powerful.� Some� people� just� want� to� hear�

themselves� speak� just� to� confirm� and� validate�

their� existence.� It� has� been� said� that� big� egos�

have� little� ears.

①� 진정한� 경청은� 자신의� 의견을� 준비하는� 과정과�

같다.

②� 대부분의� 사람들은� 타인의� 말을� 진심으로�

경청한다.

③� 자기� 중심적인� 성향은� 경청을� 방해한다.

④� 경청은� 자신의� 생각을� 강화하는� 수단이다.

⑤� 진정한� 경청은� 말하기� 기술보다� 덜� 중요하다.

10)� 다음� 글의�요지로�가장�적절한�것은?

[Exercise� 11-12]

The� bank� account� analogy� helps� express� why�

increased� agricultural� production� must� be�

accompanied� by� fertilizer� use.� Every� time� you�

harvest� a� crop� and� eat� it,� the� nitrogen� (and�

other� nutrients)� in� those� plants,� the� very�

nutrients� that� make� that� crop� good� food,� are�

taken� out� of� the� soil� and� moved� to� wherever�

you� are.� Some� of� those� nutrients� accumulate�

in� your� body� (if� you� are� growing),� but� most�

pass� through.� Either� way,� unless� you� and� your�

waste� are� returned� to� the� farm,� there� is� a� net�

loss� of� nutrients� from� the� soil� —� a� net�

withdrawal� from� the� nutrient� bank.� When�

there� were� relatively� few� people,� most� of�

whom� lived,� went� to� the� bathroom,� and� died�

on� or� near� the� farm,� leaving� fields� fallow� or�

planting� legumes� and� plowing� them� under�

was� a� reasonably� sustainable� way� to� produce�

food.� But� for� eight� billion� people?� Or� for� ten?�

The� food� required� to� feed� all� of� us� requires� a�

lot� of� nitrogen� to� be� removed� from� farms,�

and� it� needs� to� be� replaced,� or� the� soil� bank�

account� of� nitrogen� will� run� out.� This� means�

feeding� the� world� requires� industrially�

produced� nitrogen� fertilizer,� at� least� for� the�

foreseeable� future,� until� we� figure� out� a� safe�

and� effective� way� to� return� the� nutrients�

passing� through� humans� to� the� farm� soil�

whence� they� came.� In� other� words,� we� thrive�

because� of� our� innovations� in� capturing�

nitrogen.

①� 농업� 생산량� 증가는� 토양� 질과� 무관하게�

이루어진다.

②� 인류는� 지속� 가능한� 농업을� 위해� 자연적인� 비료�

사용만으로� 충분하다.

③� 인류의� 식량� 생산은� 질소� 비료의� 인공적� 생산에�

의존할� 수밖에� 없다.

④� 전통적인� 농업� 방식은� 인구� 증가� 문제를� 해결할�

수� 있다.

⑤� 농업의� 발전은� 인간의� 기술� 혁신과� 무관하게�

이루어진다.
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[주제]

11)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 1]

Inspired� by� the� pioneering� work� of� the�

psychologists� Daniel� Kahneman� and� the� late�

Amos� Tversky,� this� field� has� cataloged� a� large�

inventory� of� behavioral� anomalies� in� which�

people� clearly� violate� the� predictions� and�

prescriptions� of� standard� economic� models.� It�

is� common,� for� example,� for� someone� to� be�

willing� to� drive� across� town� to� save� $10� on� a�

$20� clock� radio,� but� unwilling� to� do� so� to�

save� $10� on� a� $1,000� television� set.� Yet� the�

benefit� of� making� the� drive� is� $10� in� each�

case.� So� if� the� implicit� cost� of� the� drive� were�

less� than� $10,� a� rational� person� would� drive�

across� town� in� both� cases.� People� often�

explain� their� reluctance� to� make� the� drive� for�

the� television� by� saying� the� $10� savings� is�

such� a� small� percentage� of� its� price.� But� a�

rational� person� reckons� benefits� and� costs� in�

absolute� terms,� not� as� percentages.

①� The� psychological� foundations� of� irrational�

economic� behavior

②� How� human� decision-making� deviates� from�

standard� economic� models

③� The� economic� value� of� saving� strategies� in�

modern� markets

④� The� role� of� percentages� in� rational� financial�

decision-making

⑤� The� influence� of� market� trends� on�

consumer� spending

12)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 2]

Regardless� of� their� generation,� everyone� wants�

to� be� valued,� respected,� and� heard.� But� each�

one� of� us� might� express� our� thoughts� and�

receive� information� differently.� One� of� my�

clients� was� struggling� with� how� some� of� their�

Baby� Boomer� employees� were� trying� to� build�

personal� relationships� with� Millennial�

employees.� A� few� of� these� employees� read�

articles� that� recommended� specific� methods�

for� communicating� with� each� generation.� The�

Boomer� employees� then� went� on� to� use� this�

information� to� inform� how� they�

communicated� with� all� of� their� coworkers� of�

various� generations.� They� walked� to� the�

offices� of� their� Baby� Boomer� peers,� emailed�

Gen� X� colleagues,� and� texted� Millennials.� On�

the� surface,� this� seemed� fine,� but� it� soon�

started� to� stir� up� some� controversy� because�

people� did� not� understand� why� they� were�

getting� an� email,� when� someone� else� was�

getting� a� face-to-face� conversation.� By� limiting�

in-person� conversation� to� only� certain�

coworkers,� these� employees� unintentionally�

made� others� feel� left� out� and� undervalued.

①� How� generational� differences� affect�

communication� styles� in� the� workplace

②� The� importance� of� digital� communication�

tools� in� modern� workplaces

③� The� psychological� effects� of� workplace�

exclusion

④� How� generational� stereotypes� influence�

corporate� decision-making

⑤� The� role� of� technology� in� bridging�

communication� gaps
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13)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 3]

Our� species� has� been� making� music� most�

likely� for� as� long� as� we've� been� human.� It�

seems� to� be� an� indelible� part� of� us.� The�

oldest� known� musical� instruments� date� back�

to� the� Upper� Paleolithic� period,� some� 40,000�

years� ago.� Among� the� most� intriguing� of�

these� are� delicate� bone� flutes,� seen� in� Figure�

1.1,� found� in� what� is� now� southern� Germany.�

These� discoveries� testify� to� the� advanced�

technology� that� our� ancestors� applied� to�

create� music:� the� finger� holes� are� carefully�

bevelled� to� allow� the� musician's� fingers� to�

make� a� tight� seal;� and� the� distances� between�

the� holes� appear� to� have� been� precisely�

measured,� perhaps� to� correspond� to� a� specific�

musical� scale.� This� time� period� corresponds� to�

the� last� glaciation� episode� in� the� Northern�

Hemisphere� —� life� could� not� have� been� easy�

for� people� living� at� that� time.� Yet� time,�

energy,� and� the� skills� of� craftworkers� were�

expended� for� making� abstract� sounds� "of� the�

least� use� ...� to� daily� habits� of� life."� So,� music�

must� have� been� very� meaningful� and�

important� for� them.

①� The� evolution� of� musical� scales� in� ancient�

civilizations

②� The� cultural� importance� of� music� in�

prehistoric� societies

③� The� relationship� between� early� technology�

and� musical� innovation

④� The� use� of� music� for� ritualistic� purposes� in�

ancient� times

⑤� How� music� helped� prehistoric� societies�

survive� harsh� climates

14)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 4]

Sometimes,� even� seemingly� unlucky� starts� turn�

out� to� make� long-run� success� more� likely.�

Gladwell� cites� the� experience� of� Jews� who�

immigrated� to� New� York� in� the� early�

twentieth� century� and� went� on� to� prosper� in�

the� garment� industry.� Many� raised� children�

who� graduated� from� law� school,� only� to� be�

rejected� by� leading� New� York� law� firms,�

which� in� those� days� hired� mostly� lawyers� from�

wealthy� Protestant� families.� Jewish� graduates�

were� often� left� with� few� better� options� than�

to� start� small� firms� of� their� own.� Those� firms�

often� specialized� in� cases� that� the� elite� law�

firms� felt� were� beneath� them,� such� as� the�

litigation� of� hostile� corporate� takeovers.� The�

lawyers� raised� by� garment� workers� were� thus�

often� the� only� ones� who� had� developed� the�

expertise� to� capitalize� on� the� explosive� growth�

of� hostile� takeover� litigation� that� occurred� in�

the� 1970s� and� 1980s.� By� dominating� that�

new� market,� they� went� on� to� earn� vastly�

more� than� the� lawyers� in� the� firms� that� had�

earlier� shunned� them.

①� The� historical� discrimination� faced� by� Jewish�

lawyers� in� New� York

②� How� early� career� setbacks� can� lead� to�

unexpected� long-term� success

③� The� evolution� of� corporate� law� firms� in� the�

20th� century

④� The� economic� impact� of� hostile� corporate�

takeovers

⑤� The� role� of� family� background� in�

professional� success
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15)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 5-6]

Let’s� take� a� classical� example� from� cognitive�

psychology:� the� effect� of� word� processing�

depth.� Imagine� that� I� present� a� list� of� sixty�

words� to� three� groups� of� students.� I� ask� the�

first� group� to� decide� whether� the� words’�

letters� are� upper-� or� lowercase;� the� second�

group,� whether� the� words� rhyme� with� “chair”;�

and� the� third,� whether� they� are� animal� names�

or� not.� Once� the� students� are� finished,� I� give�

them� a� memory� test.� Which� group� remembers�

the� words� best?� Memory� turns� out� to� be�

much� better� in� the� third� group,� who�

processed� the� words� in� depth,� at� the� meaning�

level� (75� percent� success),� than� in� the� other�

two� groups,� who� processed� the� more�

superficial� sensory� aspects� of� the� words,� either�

at� the� letter� level� (33� percent� success)� or� the�

rhyme� level� (52� percent� success).� We� do� find�

a� weak� implicit� and� unconscious� trace� of� the�

words� in� all� groups:� learning� leaves� its�

subliminal� mark� within� the� spelling� and�

phonological� systems.� However,� only� in-depth�

semantic� processing� guarantees� explicit,�

detailed� memory� of� the� words.� The� same�

phenomenon� occurs� at� the� level� of� sentences:�

students� who� make� the� effort� to� understand�

sentences� on� their� own,� without� teacher�

guidance,� show� much� better� retention� of�

information.� This� is� a� general� rule,� which� the�

American� psychologist� Henry� Roediger� states�

as� follows:� “Making� learning� conditions� more�

difficult,� thus� requiring� students� to� engage�

more� cognitive� effort,� often� leads� to� enhanced�

retention.”

①� The� role� of� sensory� processing� in� enhancing�

memory

②� How� deeper� cognitive� processing� improves�

memory� retention

③� The� relationship� between� phonological�

processing� and� memory

④� The� impact� of� teaching� methods� on�

student� engagement

⑤� The� psychological� effects� of� memorization�

strategies

16)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 7]

A� successful� farming� community� could� support�

in� a� small� region� a� much� greater� population�

than� the� foragers� could� have.� There� were,�

however,� very� significant� downsides� to� this�

new� way� of� life.� First� of� all,� storms,� droughts,�

floods,� torrential� rains,� and� other� severe�

weather� anomalies� could� be� disastrous� for� a�

farming� community� while� posing� only� a� major�

nuisance� to� foragers.� The� latter,� with� their�

minimal� light-weight� possessions,� could� fairly�

easily� up� and� move� to� some� other� area� where�

the� damage� was� not� so� great.� But,� more�

importantly,� the� natural� home� they� depended�

on� was� much� less� likely� to� be� severely�

damaged� than� were� the� crops� and� structures�

the� agricultural� community� relied� on.� By�

replacing� their� natural� home� with� an� artificial�

construction,� the� farmers,� paradoxically�

enough,� had� made� themselves� more�

vulnerable� to� natural� disasters;� in� fact,� natural�

events� that� were� not� at� all� disasters� for� the�

foragers� became� disasters� for� them.

①� How� early� farmers� adapted� to�

environmental� challenges

②� The� long-term� consequences� of� abandoning�

a� nomadic� lifestyle

③� The� unintended� risks� associated� with�

permanent� settlements

④� The� economic� benefits� of� early� agricultural�

societies

⑤� How� climate� change� influenced� ancient�

farming� practices
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17)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 8]

There� are� special� situations� in� which� people�

may� know� dozens,� if� not� hundreds,� of� distinct�

words� for� colors.� The� Dulux� brand� of� house�

paints� has� more� than� two� thousand� colors� in�

its� commercial� palette.� Many� of� these� are�

labeled� with� unique� (and� decidedly� nonbasic)�

English� names:� violet� posy,� wing� commander,�

Aztec� tan.� But� even� allowing� nonbasic� terms�

and� even� allowing� the� highly� specialized�

vocabulary� of� the� paint� industry,� the�

distinctions� that� languages� make� in� the� color�

space� are� astronomically� small� in� comparison�

to� well� over� 2� million� distinctions� in� color� that�

the� human� eye� can� discern.� Even� in� highly�

specialized,� technical� vocabularies,� the� total�

inventory� of� color� terms� in� use� makes� less�

than� one-tenth� of� 1� percent� of� the� discernible�

distinctions� in� color� that� the� human� visual�

system� can� make.� The� everyday� vocabulary�

that� most� people� use� will� be� one� hundred�

times� less� than� that� again.� Our� perceptual�

experience� is� rich,� but� our� language� comes�

nowhere� close� to� that� richness.� If� you� think�

that� language� is� good� for� capturing�

perceptual� experience,� think� again.

①� The� psychological� impact� of� color�

perception� on� human� behavior

②� The� limitations� of� language� in� capturing�

perceptual� richness

③� How� specialized� color� terminology�

influences� artistic� expression

④� The� scientific� basis� of� color� perception� in�

human� vision

⑤� The� evolution� of� language� to� accommodate�

complex� visual� experiences

18)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 9]

In� Britain,� large� open� areas� of� land� known� as�

the� commons� were� the� property� of�

land-owning� nobility� but� were� accessible� for�

use� by� peasants.� They� used� the� commons� to�

conduct� small-scale� agriculture,� to� collect�

wood� for� fuel� and� cooking,� and� to� raise� small�

amounts� of� livestock� for� their� families.� As�

global� demand� for� wool� to� be� used� in�

clothing� and� other� goods� increased,�

landowners� sought� more� grazing� land� to�

increase� wool� production,� so� they� privatized�

the� commons,� fencing� them� off� and� thus�

cutting� off� access� to� the� peasants.� By� this�

process� of� the� enclosure� of� the� commons,�

peasants� were� cut� off� from� land� that� had�

been� their� primary� resource� for� survival� for�

centuries.� Today,� there� are� interesting�

correlations� between� the� physical� commons� of�

English� pasturelands� and� the� digital� commons�

of� the� internet.� Both� are� rich� with�

opportunities� for� self-subsistence,� expression,�

flourishing;� both� are� full� of� challenges� from�

enclosure� and� landlords� (e.g.,� platform� owners�

who� charge� fees� for� access� or� use).

①� The� historical� significance� of� land�

ownership� in� Britain

②� How� economic� changes� led� to� the�

privatization� of� the� commons

③� The� parallels� between� traditional� commons�

and� modern� digital� spaces

④� The� impact� of� wool� production� on� British�

industrialization

⑤� The� evolution� of� peasant� rights� during� the�

Industrial� Revolution
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19)� 다음� 글의� 주제로�가장� 적절한�것은?�

[Exercise� 10]

The� reason� listening� can� be� so� difficult�

appears� to� be� our� narcissistic� disposition.� Too�

often,� we� pretend� to� be� listening� while� our�

mind� is� racing� in� trying� to� think� of� something�

clever.� However,� being� clever� is� not� being�

wise.� In� addition,� to� exacerbate� our� narcissistic�

tendencies,� there� is� also� the� kind� of� listening�

with� half� an� ear� that� presumes� that� we�

already� know� what� the� other� person� is� going�

to� say.� I� am� referring� to� an� inattentive�

listening,� only� waiting� for� a� chance� to� speak,�

and� even� becoming� impatient,� wishing� to� get�

rid� of� the� other� person.� As� the� philosopher�

and� poet� Ralph� Waldo� Emerson� once� said,�

'There� is� a� difference� between� truly� listening�

and� waiting� for� your� turn� to� talk.'� This� urge�

to� interrupt� and� get� a� word� in� can� be� quite�

powerful.� Some� people� just� want� to� hear�

themselves� speak� just� to� confirm� and� validate�

their� existence.� It� has� been� said� that� big� egos�

have� little� ears.

①� How� self-centeredness� inhibits� genuine�

conversation

②� The� psychological� benefits� of� mindful�

listening

③� How� impatience� affects� communication� in�

social� settings

④� The� relationship� between� ego� and� effective�

communication

⑤� The� influence� of� social� norms� on�

conversational� behavior

20)� 다음� 글의�주제로�가장�적절한�것은?�

[Exercise� 11-12]

The� bank� account� analogy� helps� express� why�

increased� agricultural� production� must� be�

accompanied� by� fertilizer� use.� Every� time� you�

harvest� a� crop� and� eat� it,� the� nitrogen� (and�

other� nutrients)� in� those� plants,� the� very�

nutrients� that� make� that� crop� good� food,� are�

taken� out� of� the� soil� and� moved� to� wherever�

you� are.� Some� of� those� nutrients� accumulate�

in� your� body� (if� you� are� growing),� but� most�

pass� through.� Either� way,� unless� you� and� your�

waste� are� returned� to� the� farm,� there� is� a� net�

loss� of� nutrients� from� the� soil� —� a� net�

withdrawal� from� the� nutrient� bank.� When�

there� were� relatively� few� people,� most� of�

whom� lived,� went� to� the� bathroom,� and� died�

on� or� near� the� farm,� leaving� fields� fallow� or�

planting� legumes� and� plowing� them� under�

was� a� reasonably� sustainable� way� to� produce�

food.� But� for� eight� billion� people?� Or� for� ten?�

The� food� required� to� feed� all� of� us� requires� a�

lot� of� nitrogen� to� be� removed� from� farms,�

and� it� needs� to� be� replaced,� or� the� soil� bank�

account� of� nitrogen� will� run� out.� This� means�

feeding� the� world� requires� industrially�

produced� nitrogen� fertilizer,� at� least� for� the�

foreseeable� future,� until� we� figure� out� a� safe�

and� effective� way� to� return� the� nutrients�

passing� through� humans� to� the� farm� soil�

whence� they� came.� In� other� words,� we� thrive�

because� of� our� innovations� in� capturing�

nitrogen.

①� The� environmental� impacts� of� industrial�

agriculture

②� The� necessity� of� nitrogen� fertilizers� for�

global� food� production

③� The� historical� evolution� of� agricultural�

sustainability

④� The� economic� challenges� of� feeding� a�

growing� population

⑤� The� relationship� between� nutrient� cycles�

and� human� health
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정답�및�해설

1)� 정답� 분석

③� 인간의� 경제적� 판단은� 합리적� 계산이� 아닌� 심리적� 요

인에� 영향을� 받는다.

� 근거:� "People� often� explain� their� reluctance� to�

make� the� drive� for� the� television� by� saying� the�

$10� savings� is� such� a� small� percentage� of� its�

price."

오답� 분석

①� 사람들은� 항상� 합리적으로� 행동하지� 않음.

②� 심리적� 요인이� 합리적� 판단을� 방해함.

④� 비율이� 아닌� 절대적� 금액이� 합리적인� 기준임.

⑤� 소비� 습관은� 가격에� 따라� 달라짐.

2)� 정답� 분석

③� 특정� 세대를� 위한� 소통� 방식은� 다른� 세대에게� 배타적

인� 인상을� 줄� 수� 있다.

� 근거:� "By� limiting� in-person� conversation� to� only�

certain� coworkers,� these� employees�

unintentionally� made� others� feel� left� out� and�

undervalued."

오답� 분석

①� 세대에� 따라� 소통� 방식이� 달라야� 함.

②� 맞춤형� 소통이� 항상� 효과적인� 것은� 아님.

④� 이메일과� 대면� 대화는� 다른� 효과를� 가짐.

⑤� 기술� 발전만으로� 해결되기� 어려움.

3)� 정답� 분석

③� 음악은� 오래전부터� 인간에게� 중요한� 의미와� 가치를� 지

녀왔다.

� 근거:� "Music� must� have� been� very� meaningful� and�

important� for� them."

오답� 분석

①� 음악은� 고대부터� 중요한� 역할을� 해왔음.

②� 음악은� 생존과� 함께� 중요한� 활동이었음.

④� 고대� 문명� 이전에도� 존재했음.

⑤� 산업혁명� 이전부터� 음악� 기술이� 존재함.

4)� 정답� 분석

①� 초기의� 불운한� 시작은� 장기적으로� 성공의� 발판이� 될�

수� 있다.

� 근거:� "Sometimes,� even� seemingly� unlucky� starts�

turn� out� to� make� long-run� success� more� likely."

오답� 분석

②� 차별이� 오히려� 성공의� 기회를� 제공할� 수� 있음.

③� 초기� 선택이� 장기적� 성공에� 영향을� 미침.

④� 출신� 배경이� 성공을� 결정짓지� 않음.

⑤� 사회적� 배제는� 오히려� 새로운� 기회를� 제공할� 수� 있음.

5)� 정답� 분석

③� 깊이� 있는� 정보� 처리가� 기억력� 향상에� 효과적이다.

� 근거:� "Only� in-depth� semantic� processing�

guarantees� explicit,� detailed� memory� of� the�

words."

오답� 분석

①� 표면적� 정보� 처리는� 효과가� 낮음.

②� 반복보다� 깊이� 있는� 처리가� 더� 효과적임.

④� 독립적인� 학습이� 효과적임.

⑤� 학습� 효과는� 빈도보다는� 처리� 깊이에� 의존함.

6)� 정답� 분석

③� 농경� 생활은� 자연재해에� 더� 취약하게� 만든다.

� 근거:� "By� replacing� their� natural� home� with� an�

artificial� construction,� the� farmers� had� made�

themselves� more� vulnerable� to� natural� disasters."

오답� 분석

①� 농경� 생활은� 자연재해에� 더� 취약함.

②� 수렵� 채집� 생활이� 자연재해에� 더� 유연하게� 대응함.

④� 농경� 사회는� 기후� 변화에� 취약함.

⑤� 안정성을� 보장하지� 않음.

7)� 정답� 분석

③� 인간의� 언어는� 색깔� 인지의� 풍부함을� 완전히� 포착하지�

못한다.

� 근거:� "Our� perceptual� experience� is� rich,� but� our�

language� comes� nowhere� close� to� that� richness."

오답� 분석

①� 언어는� 색� 인지� 능력을� 완벽히� 표현하지� 못함.

②� 전문� 용어도� 한계가� 있음.

④� 인간의� 인지� 능력은� 매우� 풍부함.

⑤� 색에� 대한� 구분은� 경험에� 따라� 달라짐.

8)� 정답� 분석

③� 공유지의� 사유화는� 공동체의� 자립� 기반을� 약화시키고,�

디지털� 환경에서도� 유사한� 현상이� 나타난다.

� 근거:� "Peasants� were� cut� off� from� land� that� had�

been� their� primary� resource� for� survival� for�

centuries."

또한,� "Today,� there� are� interesting� correlations�

between� the� physical� commons� of� English�

pasturelands� and� the� digital� commons� of� the�

internet."

오답� 분석

①� 사유화는� 공동체의� 자립� 기반을� 약화시킴.

②� 디지털� 공유지에서도� 유사한� 문제가� 발생함.

④� 환경� 보호보다는� 자원� 접근� 제한에� 초점이� 맞춰짐.

⑤� 디지털� 공유지는� 현실� 공유지� 문제와� 유사한� 점이� 있

음.

�
9)� 정답� 분석

③� 자기� 중심적인� 성향은� 경청을� 방해한다.

� 근거:� "The� reason� listening� can� be� so� difficult�

appears� to� be� our� narcissistic� disposition."

오답� 분석

①� 의견� 준비가� 아닌� 경청의� 중요성� 강조됨.

②� 대부분은� 진심으로� 경청하지� 않음.

④� 경청은� 자기� 생각� 강화가� 아님.

⑤� 경청은� 말하기� 기술만큼� 중요함.
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10)� 정답� 분석

③� 인류의� 식량� 생산은� 질소� 비료의� 인공적� 생산에� 의존

할� 수밖에� 없다.

� 근거:� "Feeding� the� world� requires� industrially�

produced� nitrogen� fertilizer,� at� least� for� the�

foreseeable� future."

오답� 분석

①� 토양� 질이� 중요한� 영향을� 미침.

②� 자연� 비료만으로는� 인류의� 식량� 수요를� 충족할� 수� 없

음.

④� 전통적인� 방식으로는� 증가하는� 인구� 문제� 해결이� 불가

능함.

⑤� 기술� 혁신이� 농업� 발전에� 필수적임.

11)� 정답:� ②� How� human� decision-making� deviates�

from� standard� economic� models

� 정답� 분석

근거� 문장:

"This� field� has� cataloged� a� large� inventory� of�

behavioral� anomalies� in� which� people� clearly�

violate� the� predictions� and� prescriptions� of�

standard� economic� models."

� 설명:

글은� 사람들이� 전통적인� 경제� 모델에서� 예상하는� 행동과�

다르게� 행동하는� 경향에� 대해� 설명하고� 있다.

� 오답� 분석

①� 심리적� 기초보다는� 경제� 모델과의� 차이가� 중심이다.

③� 저축� 전략에� 대한� 언급은� 없다.

④� 비율보다는� 절대적인� 가치� 판단의� 오류가� 중심이다.

⑤� 시장� 트렌드보다는� 개인의� 비합리적� 결정이� 주제이다.

12)� 정답:� ①� How� generational� differences� affect�

communication� styles� in� the� workplace

� 정답� 분석

근거� 문장:

"One� of� my� clients� was� struggling� with� how� some�

of� their� Baby� Boomer� employees� were� trying� to�

build� personal� relationships� with� Millennial�

employees."

� 설명:

글은� 세대� 간� 커뮤니케이션� 스타일의� 차이가� 직장에서� 어

떻게� 문제를� 발생시키는지를� 설명하고� 있다.

� 오답� 분석

②� 디지털� 도구보다는� 세대� 간� 소통� 방식이� 주제이다.

③� 직장� 내� 소외감보다는� 소통� 문제의� 원인에� 초점이� 있

다.

④� 세대적� 고정관념보다는� 실제� 커뮤니케이션� 방식이� 강

조된다.

⑤� 기술보다는� 세대적� 소통� 방식의� 차이가� 중심이다.

13)� 정답:� ②� The� cultural� importance� of� music� in�

prehistoric� societies

� 정답� 분석

근거� 문장:

"So,� music� must� have� been� very� meaningful� and�

important� for� them."

� 설명:

글은� 구석기� 시대� 음악이� 생존에� 직접적인� 도움이� 되지�

않음에도� 불구하고,� 당시� 사람들에게� 매우� 중요한� 문화

적� 의미를� 가졌다는� 점을� 강조한다.

� 오답� 분석

①� 음악적� 스케일의� 발전에� 대한� 논의는� 없다.

③� 기술� 혁신보다는� 음악의� 문화적� 중요성이� 중심이다.

④� 의식적� 사용보다는� 음악의� 문화적� 가치가� 강조된다.

⑤� 생존� 전략보다는� 문화적� 의미가� 중심이다.

�
14)� 정답:� ②� How� early� career� setbacks� can� lead� to�

unexpected� long-term� success

� 정답� 분석

근거� 문장:

"Those� firms� often� specialized� in� cases� that� the� elite�

law� firms� felt� were� beneath� them...� By�

dominating� that� new� market,� they� went� on� to�

earn� vastly� more� than� the� lawyers� in� the� firms�

that� had� earlier� shunned� them."

� 설명:

글은� 초기� 차별이� 장기적으로� 어떻게� 성공의� 발판이� 되었

는지를� 설명하고� 있다.

� 오답� 분석

①� 유대인� 차별� 사례는� 예시일� 뿐,� 글의� 주제가� 아니다.

③� 법률� 회사의� 발전보다는� 개인의� 성공� 이야기가� 중심이

다.

④� 적대적� 인수의� 경제적� 영향이� 중심� 내용은� 아니다.

⑤� 가족� 배경보다는� 초기� 실패가� 성공으로� 이어지는� 과정

이� 주제이다.

15)� 정답:� ②� How� deeper� cognitive� processing�

improves� memory� retention

� 정답� 분석

근거� 문장:

"Only� in-depth� semantic� processing� guarantees�

explicit,� detailed� memory� of� the� words."

� 설명:

글은� 의미� 수준에서의� 깊은� 처리가� 기억력� 향상에� 효과적

이라는� 점을� 강조하고� 있다.

� 오답� 분석

①� 감각� 처리보다는� 의미� 처리의� 깊이가� 중심이다.

③� 음운적� 처리는� 주된� 주제가� 아니다.

④� 교수법보다는� 학습자의� 인지� 노력에� 초점이� 맞춰져� 있

다.

⑤� 기억� 전략보다는� 처리� 수준이� 강조된다.

16)� 정답:� ③� The� unintended� risks� associated� with�

permanent� settlements

� 정답� 분석

근거� 문장:

"The� farmers...� had� made� themselves� more�
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vulnerable� to� natural� disasters."

� 설명:

글은� 정착� 생활로� 인한� 예상치� 못한� 위험,� 특히� 자연재해

에� 대한� 취약성이� 증가한� 점을� 설명하고� 있다.

� 오답� 분석

①� 환경� 적응보다는� 위험� 요소에� 집중한다.

②� 유목� 생활� 포기의� 장기적� 결과보다는� 정착� 생활의� 위

험이� 중심이다.

④� 경제적� 이익보다는� 위험성에� 초점이� 맞춰져� 있다.

⑤� 기후� 변화의� 영향은� 다루지� 않는다.

17)� 정답:� ②� The� limitations� of� language� in�

capturing� perceptual� richness

� 정답� 분석

근거� 문장:

"Our� perceptual� experience� is� rich,� but� our�

language� comes� nowhere� close� to� that� richness."

� 설명:

글은� 인간의� 언어가� 시각적� 인지의� 풍부함을� 온전히� 표현

하기에� 한계가� 있음을� 설명하고� 있다.

� 오답� 분석

①� 심리적� 영향보다는� 언어적� 한계가� 중심이다.

③� 예술적� 표현에� 대한� 내용은� 다루지� 않는다.

④� 과학적� 근거보다는� 언어적� 표현의� 한계가� 강조된다.

⑤� 언어의� 진화보다는� 언어의� 현재� 한계가� 중심이다.

18)� 정답:� ③� The� parallels� between� traditional�

commons� and� modern� digital� spaces

� 정답� 분석

근거� 문장:

"Today,� there� are� interesting� correlations� between�

the� physical� commons� of� English� pasturelands�

and� the� digital� commons� of� the� internet."

� 설명:

글은� 역사적� 공유지의� 사유화� 과정과� 현대� 디지털� 공간의�

유사한� 도전과� 위협을� 연결해서� 설명하고� 있다.

� 오답� 분석

①� 토지� 소유의� 역사적� 의미는� 주된� 내용이� 아니다.

②� 경제적� 변화보다는� 공유지와� 디지털� 공간의� 유사점이�

중심이다.

④� 양모� 생산에� 대한� 영향은� 주제가� 아니다.

⑤� 농민의� 권리� 진화보다는� 공유지의� 사유화� 과정이� 중심

이다.

19)� 정답:� ①� How� self-centeredness� inhibits� genuine�

conversation

� 정답� 분석

근거� 문장:

"Some� people� just� want� to� hear� themselves� speak�

just� to� confirm� and� validate� their� existence."

� 설명:

글은� 자기애적� 성향이� 타인의� 말에� 진정으로� 귀� 기울이지�

못하게� 만드는� 주요� 원인이라는� 점을� 설명하고� 있다.

� 오답� 분석

②� 주의� 깊은� 경청의� 심리적� 이점은� 다루지� 않는다.

③� 인내심에� 대한� 구체적인� 언급은� 없다.

④� 자아의� 영향보다는� 자기애적� 경향이� 중심이다.

⑤� 사회적� 규범보다는� 개인의� 심리적� 성향이� 중심이다.

20)� 정답:� ②� The� necessity� of� nitrogen� fertilizers� for�

global� food� production

� 정답� 분석

근거� 문장:

"The� food� required� to� feed� all� of� us� requires� a� lot�

of� nitrogen� to� be� removed� from� farms,� and� it�

needs� to� be� replaced,� or� the� soil� bank� account�

of� nitrogen� will� run� out."

� 설명:

글은� 인류의� 식량� 생산을� 위해� 질소� 비료의� 필수성이� 강

조되고� 있다.

� 오답� 분석

①� 환경적� 영향보다는� 비료의� 필요성이� 중심이다.

③� 지속� 가능성보다는� 현재의� 필요성에� 집중하고� 있다.

④� 경제적� 도전보다는� 비료의� 역할이� 강조된다.

⑤� 영양� 순환과� 건강의� 관계는� 주제가� 아니다.

21)� 정답� 분석

� ③� Behavioral� Anomalies� in� Economic�

Decision-Making

� 근거� 문장:

"This� field� has� cataloged� a� large� inventory� of�

behavioral� anomalies� in� which� people� clearly�

violate� the� predictions� and� prescriptions� of�

standard� economic� models."

지문은� 사람들이� 전통적인� 경제� 모델의� 예측과� 규범을� 위

반하는� 행동적� 이상� 현상을� 설명하고� 있으므로�

Behavioral� Anomalies� in� Economic�

Decision-Making이� 가장� 적절한� 제목이다.

오답� 분석

� ①� The� Influence� of� Technological� Advancements�

on� Spending� →� (언급� 없음:� 기술� 발전과� 소비에� 대

한� 언급이� 없음)

� ②� The� Psychological� Effects� of� Luxury� Purchases� →�

(언급� 없음:� 고급� 소비에� 대한� 심리적� 영향이� 주제가�

아님)

� ④� The� Evolution� of� Modern� Economic� Models� →�

(언급� 없음:� 경제� 모델의� 진화� 과정이� 주제가� 아님)

� ⑤� The� Role� of� Advertising� in� Consumer� Spending�

→� (언급� 없음:� 광고의� 역할이� 언급되지� 않음)

22)� 정답� 분석

� ④� Overcoming� Generational� Miscommunication� in�

the� Workplace

� 근거� 문장:

"One� of� my� clients� was� struggling� with� how� some�

of� their� Baby� Boomer� employees� were� trying� to�

build� personal� relationships� with� Millennial�

employees."

지문은� 세대� 간� 커뮤니케이션� 방식� 차이로� 발생한� 오해와�

이를� 해결하는� 과정에� 대한� 내용이므로� Overcoming�

Generational� Miscommunication� in� the�

Workplace가� 가장� 적절한� 제목이다.

오답� 분석

� ①� How� Leadership� Styles� Affect� Team� Performance�
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→� (언급� 없음:� 리더십� 스타일과� 성과� 관련� 내용� 없음)

� ②� The� Influence� of� Digital� Platforms� on� Office�

Relationships� →� (언급� 없음:� 디지털� 플랫폼에� 대한�

언급� 없음)

� ③� Managing� Remote� Work� Challenges� Across�

Generations� →� (언급� 없음:� 원격� 근무� 관련� 내용� 없

음)

� ⑤� The� Impact� of� Economic� Factors� on�

Intergenerational� Dynamics� →� (언급� 없음:� 경제적�

요인과� 세대� 간� 역학� 관계� 언급� 없음)

�
23)� 정답� 분석

� ④� The� Cultural� Significance� of� Ancient� Music

� 근거� 문장:

"Music� must� have� been� very� meaningful� and�

important� for� them."

지문은� 고대� 사회에서� 음악이� 얼마나� 의미� 있고� 중요한�

역할을� 했는지를� 설명하고� 있으므로� The� Cultural�

Significance� of� Ancient� Music가� 가장� 적절한� 제목

이다.

오답� 분석

� ①� The� Psychological� Benefits� of� Musical�

Instruments� →� (언급� 없음:� 악기의� 심리적� 혜택에� 대

한� 내용� 없음)

� ②� Exploring� the� Origins� of� Visual� Art� in� Ancient�

Times� →� (언급� 없음:� 고대� 미술에� 대한� 내용� 없음)

� ③� The� Role� of� Agriculture� in� Early� Human�

Societies� →� (언급� 없음:� 농업에� 대한� 내용� 없음)

� ⑤� The� Impact� of� Language� Development� on�

Ancient� Communication� →� (언급� 없음:� 언어� 발달에�

대한� 내용� 없음)

24)� 정답� 분석

� ③� How� Setbacks� Can� Lead� to� Unexpected� Success

� 근거� 문장:

"Sometimes,� even� seemingly� unlucky� starts� turn� out�

to� make� long-run� success� more� likely."

지문은� 초기의� 실패가� 오히려� 장기적으로� 성공을� 가져올�

수� 있음을� 설명하므로� How� Setbacks� Can� Lead� to�

Unexpected� Success가� 가장� 적절한� 제목이다.

오답� 분석

� ①� Overcoming� Discrimination� in� the� Legal�

Profession� →� (언급� 없음:� 법조계� 차별에� 대한� 내용이�

주제가� 아님)

� ②� Building� Expertise� Through� Rejection� and�

Adversity� →� (언급� 없음:� 전문성� 개발이� 주제가� 아님)

� ④� The� Impact� of� Economic� Factors� on� Career�

Advancement� →� (언급� 없음:� 경제적� 요인이� 주제가�

아님)

� ⑤� The� Psychological� Effects� of� Career�

Discrimination� →� (언급� 없음:� 심리적� 영향에� 대한� 내

용� 없음)

25)� 정답� 분석

� ③� The� Power� of� Deep� Processing� in� Memory�

Retention

� 근거� 문장:

"Only� in-depth� semantic� processing� guarantees�

explicit,� detailed� memory� of� the� words."

지문은� 깊이� 있는� 처리가� 기억� 유지에� 얼마나� 중요한지를�

설명하고� 있으므로� The� Power� of� Deep� Processing�

in� Memory� Retention가� 가장� 적절한� 제목이다.

오답� 분석

� ①� The� Psychological� Effects� of� Cognitive�

Challenges� →� (언급� 없음:� 인지적� 도전의� 심리적� 영

향이� 주제가� 아님)

� ②� The� Role� of� Semantic� Processing� in� Memory�

Formation� →� (부분적으로� 맞음:� 의미� 처리� 언급은� 있

으나� 중심� 주제가� 아님)

� ④� Understanding� Visual� Perception� in� Learning� →�

(언급� 없음:� 시각적� 인지에� 대한� 내용� 없음)

� ⑤� The� Impact� of� Surface� Learning� on� Academic�

Performance� →� (언급� 없음:� 표면적� 학습에� 대한� 영

향이� 주제가� 아님)

26)� 정답� 분석

� ③� The� Vulnerability� of� Early� Farming� Societies

� 근거� 문장:

"By� replacing� their� natural� home� with� an� artificial�

construction,� the� farmers,� paradoxically� enough,�

had� made� themselves� more� vulnerable� to� natural�

disasters."

지문은� 초기� 농경� 사회가� 자연재해에� 얼마나� 취약했는지

를� 설명하고� 있으므로� The� Vulnerability� of� Early�

Farming� Societies가� 가장� 적절한� 제목이다.

오답� 분석

� ①� The� Environmental� Challenges� of� Agricultural�

Development� →� (언급� 없음:� 환경적� 도전에� 대한� 구

체적인� 설명이� 없음)

� ②� The� Impact� of� Climate� Change� on� Early�

Societies� →� (언급� 없음:� 기후� 변화에� 대한� 내용� 없

음)

� ④� The� Psychological� Effects� of� Natural� Disasters� on�

Communities� →� (언급� 없음:� 심리적� 영향에� 대한� 언

급� 없음)

� ⑤� Understanding� the� Origins� of� Human�

Settlements� →� (언급� 없음:� 인간� 정착의� 기원에� 대한�

내용� 없음)

27)� 정답� 분석

� ③� The� Limitations� of� Language� in� Describing� Color

� 근거� 문장:

"Our� perceptual� experience� is� rich,� but� our�

language� comes� nowhere� close� to� that� richness."

지문은� 인간의� 언어가� 색을� 인지하는� 풍부한� 경험을� 충분

히� 표현하지� 못한다는� 점을� 강조하고� 있으므로� The�

Limitations� of� Language� in� Describing� Color가� 가

장� 적절한� 제목이다.

오답� 분석
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� ①� The� Influence� of� Industry� on� Color� Perception�

→� (언급� 없음:� 산업의� 색� 인식에� 대한� 영향이� 없음)

� ②� The� Evolution� of� Color� Terminology� in� Language�

→� (언급� 없음:� 색� 용어의� 발전� 과정이� 주제가� 아님)

� ④� The� Psychological� Impact� of� Color� on� Human�

Behavior� →� (언급� 없음:� 색이� 인간� 행동에� 미치는� 심

리적� 영향이� 없음)

� ⑤� The� Role� of� Art� in� Expanding� Color� Vocabulary�

→� (언급� 없음:� 예술과� 색� 용어� 확장에� 대한� 내용� 없

음)

28)� 정답� 분석

� ②� The� Enclosure� of� Commons:� Historical� and�

Modern� Parallels

� 근거� 문장:

"Today,� there� are� interesting� correlations� between�

the� physical� commons� of� English� pasturelands�

and� the� digital� commons� of� the� internet."

지문은� 과거� 영국의� 공유지� 폐쇄� 현상과� 현대의� 디지털�

공유지의� 유사점을� 설명하므로� The� Enclosure� of�

Commons:� Historical� and� Modern� Parallels가� 가장�

적절한� 제목이다.

오답� 분석

� ①� The� Economic� Impact� of� British� Land�

Privatization� →� (언급� 없음:� 경제적� 영향이� 중심� 주제

가� 아님)

� ③� How� Technological� Change� Transformed�

Agriculture� →� (언급� 없음:� 기술� 변화에� 대한� 내용� 없

음)

� ④� The� Role� of� Digital� Platforms� in� Economic�

Growth� →� (언급� 없음:� 디지털� 플랫폼의� 경제� 성장�

역할이� 아님)

� ⑤� The� Social� Consequences� of� Industrialization� in�

Britain� →� (언급� 없음:� 산업화의� 사회적� 영향에� 대한�

내용� 없음)

29)� 정답� 분석

� ②� Understanding� the� Importance� of� Genuine�

Listening

� 근거� 문장:

"There� is� a� difference� between� truly� listening� and�

waiting� for� your� turn� to� talk."

지문은� 진정한� 경청의� 중요성을� 강조하고� 있으므로�

Understanding� the� Importance� of� Genuine�

Listening가� 가장� 적절한� 제목이다.

오답� 분석

� ①� The� Psychological� Barriers� to� Effective�

Communication� →� (언급� 없음:� 효과적인� 커뮤니케이

션에� 대한� 심리적� 장애물이� 주제가� 아님)

� ③� The� Narcissistic� Nature� of� Human� Interaction� →�

(언급� 없음:� 인간� 상호작용의� 자기애적� 성향이� 주제가�

아님)

� ④� How� Social� Media� Shapes� Communication� Styles�

→� (언급� 없음:� 소셜� 미디어와� 커뮤니케이션� 양식의� 연

관성� 없음)

� ⑤� The� Cognitive� Effects� of� Multitasking� on�

Listening� →� (언급� 없음:� 멀티태스킹과� 경청의� 인지적�

영향이� 없음)

30)� 정답� 분석

� ②� The� Agricultural� Necessity� of� Nitrogen�

Replacement

� 근거� 문장:

"This� means� feeding� the� world� requires� industrially�

produced� nitrogen� fertilizer,� at� least� for� the�

foreseeable� future,� until� we� figure� out� a� safe�

and� effective� way� to� return� the� nutrients� passing�

through� humans� to� the� farm� soil� whence� they�

came."

지문은� 전� 세계� 인구의� 식량� 수요를� 충족하기� 위해� 질소�

비료의� 필수성이� 강조되므로� The� Agricultural�

Necessity� of� Nitrogen� Replacement가� 가장� 적절한�

제목이다.

오답� 분석

� ①� The� Environmental� Cost� of� Industrial� Farming� →�

(언급� 없음:� 산업� 농업의� 환경적� 비용이� 주제가� 아님)

� ③� How� Population� Growth� Affects� Global� Food�

Production� →� (언급� 없음:� 인구� 증가가� 식량� 생산에�

미치는� 영향이� 주제가� 아님)

� ④� The� Evolution� of� Fertilizer� Technology� in�

Modern� Agriculture� →� (언급� 없음:� 비료� 기술의� 발

전� 과정이� 주제가� 아님)

� ⑤� The� Impact� of� Urbanization� on� Soil� Depletion� →�

(언급� 없음:� 도시화와� 토양� 고갈에� 대한� 내용� 없음)

31)� � 정답:� ②� Rational� individuals� assess� gains� and�

losses� based� on� fixed� values

� 근거� 문장:� "But� a� rational� person� reckons� benefits�

and� costs� in� absolute� terms,� not� as�

percentages."

� 설명:

합리적인� 사람은� 이익과� 비용을� 비율이� 아니라� 절대적인�

가치로� 평가한다.

32)� � 정답:� ②� Their� actions� unintentionally� created�

feelings� of� exclusion� and� underappreciation

� 근거� 문장:� "By� limiting� in-person� conversation� to�

only� certain� coworkers,� these� employees�

unintentionally� made� others� feel� left� out� and�

undervalued."

� 설명:

특정� 동료와만� 직접� 대화를� 제한함으로써� 나머지� 직원들

이� 소외되고� 존중받지� 못한다고� 느끼게� 했다.

33)� � 정답:� ③� Despite� harsh� living� conditions,� music�

held� deep� cultural� or� emotional� significance

� 근거� 문장:� "Time,� energy,� and� the� skills� of�

craftworkers� were� expended� for� making� abstract�

sounds� 'of� the� least� use� ...� to� daily� habits� of�

life.'"

� 설명:
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어려운� 삶의� 환경� 속에서도� 음악은� 문화적� 또는� 감정적으

로� 매우� 중요한� 의미를� 지녔다.

34)� � 정답:� ③� Small� firms� capitalized� on�

opportunities� overlooked� by� elite� law� firms

� 근거� 문장:� "Jewish� graduates� were� often� left� with�

few� better� options� than� to� start� small� firms� of�

their� own,� specializing� in� cases� that� the� elite� law�

firms� felt� were� beneath� them."

� 설명:

작은� 로펌들이� 명문� 로펌이� 무시한� 기회를� 활용해� 전문성

을� 키웠다.

35)� � 정답:� ②� Increased� cognitive� effort� during�

learning� can� strengthen� memory� retention

� 근거� 문장:� "Making� learning� conditions� more�

difficult,� thus� requiring� students� to� engage� more�

cognitive� effort,� often� leads� to� enhanced�

retention."

� 설명:

학습� 과정에서� 인지적� 노력을� 요구할수록� 기억� 유지력이�

강화된다.

36)� � 정답:� ①� Farmers� became� more� susceptible� to�

natural� disasters� due� to� agricultural� practices

� 근거� 문장:� "By� replacing� their� natural� home� with�

an� artificial� construction,� the� farmers,�

paradoxically� enough,� had� made� themselves�

more� vulnerable� to� natural� disasters."

� 설명:

농업� 공동체는� 자연� 환경을� 인공� 구조물로� 대체하면서� 자

연재해에� 더� 취약해졌다.

37)� � 정답:� ②� Language� inadequately� reflects� the�

complexity� of� human� perception

� 근거� 문장:� "Our� perceptual� experience� is� rich,� but�

our� language� comes� nowhere� close� to� that�

richness."

� 설명:

인간의� 언어는� 감각적� 경험의� 복잡성을� 완전히� 표현하지�

못한다.

38)� � 정답:� ②� The� restriction� of� public� access� to�

shared� land� by� privatizing� it

� 근거� 문장:� "By� this� process� of� the� enclosure� of� the�

commons,� peasants� were� cut� off� from� land� that�

had� been� their� primary� resource� for� survival� for�

centuries."

� 설명:

공유지를� 사유화하는� 과정으로� 인해� 농민들이� 그동안� 의

존해온� 주요� 생존� 자원에� 대한� 접근이� 차단되었다.

39)� � 정답:� ②� Narcissistic� individuals� tend� to� be� poor�

listeners

� 근거� 문장:� "Some� people� just� want� to� hear�

themselves� speak� just� to� confirm� and� validate�

their� existence.� It� has� been� said� that� big� egos�

have� little� ears."

� 설명:

자기� 중심적인� 사람들은� 다른� 사람의� 말을� 잘� 듣지� 않는�

경향이� 있다.

40)� � 정답:� ②� Agricultural� soils� will� eventually� lose�

their� essential� nutrients

� 근거� 문장:� "Unless� you� and� your� waste� are�

returned� to� the� farm,� there� is� a� net� loss� of�

nutrients� from� the� soil� —� a� net� withdrawal� from�

the� nutrient� bank."

� 설명:

농업� 활동으로� 인해� 토양의� 필수� 영양소인� 질소가� 고갈될�

수� 있다.

41)� ✔ 정답:� ③� irrational� →� rational

42)� ✔ 정답:� ④� intentionally� →� unintentionally

43)� ✔ 정답:� ④� most� →� least

44)� ✔ 정답:� ③� distaste� →� expertise

45)� ✔ 정답:� ④� weakened� →� better

46)� ✔ 정답:� ④� resistant� →� vulnerable

� �
47)� ✔ 정답:� ②� large� →� small

48)� ✔ 정답:� ③� contradictions� →� correlations

49)� ✔ 정답:� ④� weak� →� powerful

50)� ✔ 정답:� ③� high� →� out

51)� � 정답:� ②� reckons� benefits� and� costs� in� absolute�

terms

� 근거� 문장:� "But� a� rational� person� reckons�

benefits� and� costs� in� absolute� terms,� not� as�

percentages."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 합리적인� 사람은� 이익과� 비용을� 백분율이� 아닌�

절대적� 수치로� 계산한다는� 점을� 설명함.

� 오답� 분석:� ①� compares� the� value� of� time�

saved� →� 시간� 절약의� 가치� 비교에� 대한� 언급은� 본

문에� 없음.� ③� considers� opportunity� costs� first�

→� 기회비용을� 우선� 고려한다는� 내용은� 없음.� ④�
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evaluates� decisions� based� on� utility� →� 효용성에�

기반한� 결정� 평가에� 대한� 언급은� 없음.� ⑤� makes�

choices� that� maximize� efficiency� →� 효율성� 극대

화� 선택에� 대한� 내용은� 다루지� 않음.

52)� � 정답:� ②� unintentionally� made� others� feel� left�

out� and� undervalued

� 근거� 문장:� "By� limiting� in-person� conversation�

to� only� certain� coworkers,� these� employees�

unintentionally� made� others� feel� left� out� and�

undervalued."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 특정� 동료들에게만� 대면� 대화를� 제한함으로써�

이� 직원들이� 의도치� 않게� 다른� 이들이� 소외감과� 저

평가� 받는� 느낌을� 갖게� 했다는� 점을� 설명함.

� 오답� 분석:� ①� reinforced� existing� generational�

stereotypes� →� 기존� 세대� 고정관념의� 강화는� 본문

의� 주요� 주제가� 아님.� ③� reduced� overall�

workplace� communication� efficiency� →� 전체� 직

장� 소통� 효율성의� 감소는� 언급되지� 않음.� ④�

created� unnecessary� technological� barriers� →�

불필요한� 기술적� 장벽� 생성에� 대한� 내용은� 없음.� ⑤�

misunderstood� generational� communication�

preferences� →� 세대별� 소통� 선호도의� 오해는� 주요�

문제점으로� 강조되지� 않음.

�
53)� � 정답:� ①� of� the� least� use� to� daily� habits� of� life

� 근거� 문장:� "Yet� time,� energy,� and� the� skills� of�

craftworkers� were� expended� for� making�

abstract� sounds� 'of� the� least� use� ...� to� daily�

habits� of� life.'"

� 정답인� 이유:� 원문에서� 직접적으로� 인용된� 내용으

로,� 당시� 사람들이� 일상생활의� 습관에� 가장� 유용하

지� 않은� 추상적인� 소리를� 만들기� 위해� 시간과� 에너

지,� 장인의� 기술을� 투자했다는� 점을� 설명함.

� 오답� 분석:� ②� that� could� communicate� over�

long� distances� →� 장거리� 통신� 목적은� 본문에서�

언급되지� 않음.� ③� that� had� spiritual� or�

ceremonial� significance� →� 영적� 또는� 의식적� 중요

성에� 대한� 구체적� 언급은� 없음.� ④� which�

enhanced� social� bonding� among� groups� →� 사

회적� 유대감� 강화에� 대한� 직접적� 언급은� 없음.� ⑤�

that� mimicked� sounds� from� the� natural� world�

→� 자연의� 소리� 모방에� 대한� 내용은� 없음.

54)� � 정답:� ②� the� explosive� growth� of� hostile�

takeover� litigation

� 근거� 문장:� "The� lawyers� raised� by� garment�

workers� were� thus� often� the� only� ones� who�

had� developed� the� expertise� to� capitalize� on�

the� explosive� growth� of� hostile� takeover�

litigation� that� occurred� in� the� 1970s� and�

1980s."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 의류� 노동자들이� 키운� 변호사들은� 1970년대와�

1980년대에� 발생한� 적대적� 기업� 인수� 소송의� 폭발

적� 성장을� 활용할� 전문성을� 개발한� 유일한� 사람들이

었다는� 점을� 설명함.

� 오답� 분석:� ①� the� radical� changes� in� corporate�

law� →� 기업법의� 급진적� 변화에� 대한� 언급은� 본문

에� 없음.� ③� increased� immigration� of� skilled�

professionals� →� 숙련된� 전문가의� 증가된� 이민에�

대한� 내용은� 없음.� ④� new� anti-discrimination�

employment� regulations� →� 새로운� 반차별� 고용�

규정에� 대한� 언급은� 없음.� ⑤� the� declining�

influence� of� traditional� law� practices� →� 전통적�

법률� 관행의� 영향력� 감소는� 다루지� 않음.

55)� � 정답:� ①� in� depth

� 근거� 문장:� "Memory� turns� out� to� be� much�

better� in� the� third� group,� who� processed� the�

words� in� depth,� at� the� meaning� level� (75�

percent� success),� than� in� the� other� two�

groups,� who� processed� the� more� superficial�

sensory� aspects� of� the� words,� either� at� the�

letter� level� (33� percent� success)� or� the� rhyme�

level� (52� percent� success)."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 세� 번째� 그룹이� 단어를� 심층적으로,� 의미� 수준에

서� 처리했을� 때� 기억력이� 더� 좋았다는� 점을� 설명함.

� 오답� 분석:� ②� through� repetition� →� 반복을� 통한�

처리는� 언급되지� 않음.� ③� by� visual� association� →�

시각적� 연상에� 대한� 내용은� 없음.� ④� using�

mnemonic� techniques� →� 기억술� 기법� 사용에� 대

한� 언급은� 없음.� ⑤� with� emotional� connections�

→� 감정적� 연결에� 대한� 내용은� 다루지� 않음.

�
56)� � 정답:� ②� more� vulnerable� to� natural� disasters

� 근거� 문장:� "By� replacing� their� natural� home�

with� an� artificial� construction,� the� farmers,�

paradoxically� enough,� had� made� themselves�

more� vulnerable� to� natural� disasters;� in� fact,�

natural� events� that� were� not� at� all� disasters�

for� the� foragers� became� disasters� for� them."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 농부들이� 자연� 거주지를� 인공� 구조물로� 대체함

으로써� 역설적으로� 자연� 재해에� 더� 취약해졌다는� 점
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을� 설명함.

� 오답� 분석:� ①� dependent� on� unpredictable�

weather� patterns� →� 예측� 불가능한� 날씨� 패턴에�

의존적이라는� 내용은,� 취약성보다� 구체적이지� 않음.�

③� less� able� to� adapt� to� environmental�

changes� →� 환경� 변화� 적응� 능력의� 감소는� 본문의�

핵심이� 아님.� ④� isolated� from� other� human�

communities� →� 다른� 인간� 공동체로부터의� 고립은�

언급되지� 않음.� ⑤� reliant� on� complex�

agricultural� technologies� →� 복잡한� 농업� 기술에�

대한� 의존성은� 본문에서� 강조되지� 않음.

57)� � 정답:� ①� our� language� comes� nowhere� close� to�

that� richness

� 근거� 문장:� "Our� perceptual� experience� is� rich,�

but� our� language� comes� nowhere� close� to�

that� richness."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 우리의� 지각적� 경험은� 풍부하지만� 언어는� 그� 풍

부함에� 전혀� 근접하지� 못한다는� 점을� 설명함.

� 오답� 분석:� ②� most� people� fail� to� notice�

subtle� color� differences� →� 미묘한� 색상� 차이를�

인지하지� 못한다는� 내용은� 없음.� ③� marketing�

terms� often� exaggerate� product� qualities� →� 마

케팅� 용어가� 제품� 품질을� 과장한다는� 언급은� 없음.�

④� professional� color� experts� still� struggle� with�

naming� →� 전문가들의� 명명� 어려움에� 대한� 내용은�

없음.� ⑤� cultural� factors� influence� our� color�

categorization� →� 문화적� 요소의� 영향에� 대한� 언급

은� 없음.

58)� � 정답:� ②� the� enclosure� of� the� commons

� 근거� 문장:� "By� this� process� of� the� enclosure�

of� the� commons,� peasants� were� cut� off� from�

land� that� had� been� their� primary� resource� for�

survival� for� centuries."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 공유지� 인클로저(울타리치기)� 과정을� 통해� 농민

들이� 수� 세기� 동안� 그들의� 주요� 생존� 자원이었던� 토

지로부터� 차단되었다는� 점을� 설명함.

� 오답� 분석:� ①� agricultural� transformation� →� 농

업� 변혁이라는� 일반적� 표현은� 본문의� 특정� 역사적�

과정을� 정확히� 반영하지� 않음.� ③� colonial� land�

redistribution� →� 식민지� 토지� 재분배에� 대한� 언급

은� 없음.� ④� modernizing� rural� economies� →� 농

촌� 경제� 현대화는� 본문의� 주제가� 아님.� ⑤�

establishing� property� rights� →� 재산권� 확립이라는�

표현은� 공유지의� 사유화라는� 구체적� 과정을� 충분히�

반영하지� 못함.

59)� � 정답:� ②� There� is� a� difference� between� truly�

listening� and� waiting� for� your� turn� to� talk

� 근거� 문장:� "As� the� philosopher� and� poet�

Ralph� Waldo� Emerson� once� said,� 'There� is� a�

difference� between� truly� listening� and� waiting�

for� your� turn� to� talk.'"

� 정답인� 이유:� 원문에서� 직접적으로� 인용된� 내용으

로,� 랄프� 왈도� 에머슨이� 말한� "진정으로� 듣는� 것과�

자신의� 차례를� 기다리는� 것� 사이에는� 차이가� 있다"

는� 구절을� 인용함.

� 오답� 분석:� ①� The� best� listeners� are� often� the�

wisest� people� →� 최고의� 청취자가� 가장� 현명한� 사

람이라는� 인용문은� 본문에� 없음.� ③� To� speak� and�

to� listen� requires� the� same� level� of� attention�

→� 말하기와� 듣기에� 같은� 수준의� 주의가� 필요하다는�

내용은� 없음.� ④� A� good� conversation� involves�

equal� participation� from� both� sides� →� 좋은� 대

화의� 동등한,� 내용은� 다루지� 않음.� ⑤� We� learn�

more� from� listening� than� from� speaking� our�

own� thoughts� →� 자신의� 생각을� 말하는� 것보다� 듣

기에서� 더� 많이� 배운다는� 인용문은� 없음.

60)� � 정답:� ③� we� thrive� because� of� our� innovations�

in� capturing� nitrogen

� 근거� 문장:� "In� other� words,� we� thrive� because�

of� our� innovations� in� capturing� nitrogen."

� 정답인� 이유:� 원문에서� 직접적으로� 언급된� 내용으

로,� 우리가� 번영하는� 것은� 질소� 포획에� 있어서의� 혁

신� 덕분이라는� 점을� 설명함.

� 오답� 분석:� ①� sustainable� agriculture� requires�

circular� nutrient� systems� →� 순환� 영양소� 시스템

의� 필요성은� 명시적으로� 언급되지� 않음.� ②� food�

security� depends� on� technological� interventions�

→� 기술적� 개입에� 대한� 식량� 안보� 의존성은� 본문의�

주요� 주제가� 아님.� ④� modern� farming� practices�

are� depleting� our� soil� resources� →� 현대� 농업� 관

행이� 토양� 자원을� 고갈시킨다는� 내용은� 본문의� 주요�

메시지가� 아님.� ⑤� population� growth� is� our�

greatest� environmental� challenge� →� 인구� 증가

가� 가장� 큰� 환경적� 도전이라는� 언급은� 없음.

61)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서는� 사람들이� 같은� 금액의� 절약이라도� 상황에� 따라�

다르게� 인식하는� 사례(라디오� vs.� TV)를� 제시함.
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C에서는� 이� 사례를� 설명하며� "Yet� the� benefit� of�

making� the� drive� is� $10� in� each� case."라고� 하여�

논리를� 전개함.

C� →� B

C에서� "People� often� explain� their� reluctance� to�

make� the� drive� for� the� television� by� saying� the�

$10� savings� is� such� a� small� percentage� of� its�

price."라고� 설명함.

B에서는� "But� a� rational� person� reckons� benefits� and�

costs� in� absolute� terms,� not� as� percentages."라고�

하여� 일반적인� 경제적� 합리성의� 기준을� 제시하며� C를�

반박함.

� 핵심� 요약

A:� 같은� 금액이라도� 상황에� 따라� 다르게� 인식됨.

C:� 이러한� 인식� 차이가� 경제적� 합리성과� 상충됨.

B:� 합리적인� 판단은� 절대� 금액을� 기준으로� 해야� 함.

62)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서는� 베이비붐� 세대� 직원들이� 세대별� 맞춤� 커뮤니케이

션� 방식을� 적용한� 사례를� 소개함.

C에서는� "On� the� surface,� this� seemed� fine,� but� it�

soon� started� to� stir� up� some� controversy"라고� 하

며� 이� 방식이� 논란을� 일으켰음을� 설명함.

C� →� B

C에서� "people� did� not� understand� why� they� were�

getting� an� email,� when� someone� else� was�

getting� a� face-to-face� conversation."라고� 하여� 문

제가� 발생했음을� 언급함.

B에서는� "By� limiting� in-person� conversation� to� only�

certain� coworkers,� these� employees�

unintentionally� made� others� feel� left� out� and�

undervalued."라고� 하여� 문제의� 영향을� 구체적으로� 설

명함.

� 핵심� 요약

A:� 세대별� 커뮤니케이션� 방식을� 적용함.

C:� 하지만� 이� 방식이� 오히려� 갈등을� 초래함.

B:� 특정� 직원만� 대면� 대화를� 하게� 되면서� 소외감을� 유발

함.

63)� 정답:� ④� (C)� -� (A)� -� (B)

정답� 선택지� 분석

C� →� A

C에서는� 고대� 악기의� 기술적� 정교함을� 설명함.

A에서는� 이러한� 시대적� 배경을� 설명하며� 음악이� 얼마나�

중요한� 역할을� 했는지� 강조함.

A� →� B

A에서� "life� could� not� have� been� easy� for� people�

living� at� that� time."라고� 하며� 어려운� 삶의� 환경을�

언급함.

B에서는� "Yet� time,� energy,� and� the� skills� of�

craftworkers� were� expended"라고� 하며,� 그런� 환경

에서도� 음악이� 중요했다는� 점을� 강조함.

� 핵심� 요약

C:� 고대� 악기의� 정교함이� 증명됨.

A:� 당시� 환경이� 척박했음에도� 음악이� 존재함.

B:� 힘든� 환경에서도� 음악이� 필수적이었음.

64)� � 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지� 분석

B� →� C

B에서는� 유대인� 변호사들이� 기존� 법률� 회사에� 취업하지�

못하고� 자신만의� 회사를� 설립하게� 된� 배경을� 설명함.

C에서는� 그런� 회사들이� "hostile� takeover"� 사건을� 담당

하며� 성공하게� 된� 과정을� 설명함.

C� →� A

C에서� "The� lawyers� raised� by� garment� workers� were�

thus� often� the� only� ones� who� had� developed�

the� expertise� to� capitalize� on� the� explosive�

growth� of� hostile� takeover� litigation"라고� 하여� 법

률� 시장에서의� 성공을� 설명함.

A에서는� 그� 결과� "By� dominating� that� new� market,�

they� went� on� to� earn� vastly� more"라고� 하여� 결국�

성공을� 거두었음을� 강조함.

� 핵심� 요약

B:� 유대인� 변호사들이� 취업� 차별을� 겪음.

C:� 이들은� 새로운� 법률� 시장을� 개척함.

A:� 결과적으로� 기존� 법률� 회사보다� 성공함.

65)� 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지� 분석

B� →� C

B에서� 깊이� 있는� 의미� 처리(group� 3)가� 기억에� 더� 효과

적이라는� 연구� 결과를� 소개함.

C에서는� 이� 효과가� 무의식적� 기억과� 관련이� 있으며� 문장�

수준에서도� 같은� 원리가� 적용된다고� 설명함.

C� →� A

C에서� 학생들이� 문장도� 스스로� 해석해야� 더� 오래� 기억한

다고� 언급함.

A에서는� 이를� 일반� 법칙으로� 확장하여� Roediger의� 원칙

을� 제시함.

� 핵심� 요약

B:� 단어를� 의미적으로� 처리하면� 기억이� 더� 오래� 감.

C:� 이� 원리는� 문장� 수준에서도� 동일하게� 적용됨.

A:� 학습에� 어려움을� 부여하는� 것이� 기억� 향상에� 도움됨.

66)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서� 농경� 사회가� 자연재해에� 취약함을� 설명함.

C에서는� 자연재해가� 농경민에게� 더욱� 치명적인� 이유를� 구

체적으로� 설명함.

C� →� B

C에서� "the� natural� home� they� depended� on� was�

much� less� likely� to� be� severely� damaged"라고� 하

며� 비교� 대상을� 언급함.

B에서는� 이� 개념을� "paradoxically� enough"라고� 표현하

며,� 농경이� 자연에� 더욱� 취약해지는� 아이러니를� 설명

함.

� 핵심� 요약

A:� 농경� 사회는� 자연재해에� 취약함.

C:� 자연재해가� 농경민에게� 더� 치명적임.
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B:� 농경이� 자연에� 대한� 취약성을� 오히려� 키웠음.

67)� 정답:� ④� (C)� -� (A)� -� (B)

정답� 선택지� 분석

C� →� A

C에서� 인간이� 구별할� 수� 있는� 색상� 수가� 언어가� 표현하는�

것보다� 훨씬� 많음을� 강조함.

A에서는� 전문� 용어를� 포함해도� 색상� 구별이� 미미하다는�

점을� 보충� 설명함.

A� →� B

A에서� 인간의� 언어가� 지각을� 충분히� 반영하지� 못한다고�

설명함.

B에서는� 이를� 결론으로� "our� language� comes� nowhere�

close� to� that� richness."라고� 단언함.

� 핵심� 요약

C:� 인간이� 구별하는� 색상이� 언어보다� 훨씬� 많음.

A:� 전문� 용어를� 포함해도� 색상� 구별이� 제한적임.

B:� 언어는� 감각을� 온전히� 담아내지� 못함.

68)� 정답:� ③� (B)� -� (C)� -� (A)

정답� 선택지� 분석

B� →� C

B에서� 봉건� 영주들이� 공유지를� 사유화했음을� 설명함.

C에서는� 이로� 인해� 농민들이� 생존� 자원을� 잃게� 되었음을�

언급함.

C� →� A

C에서� 공유지� 문제를� 디지털� 환경과� 연결함.

A에서는� 인터넷상의� 공유지가� 현실� 공유지와� 유사하게� 작

동한다고� 설명함.

� 핵심� 요약

B:� 공유지가� 사유화됨.

C:� 농민들이� 생존� 기반을� 상실함.

A:� 디지털� 공유지와� 비교� 가능함.

69)� � 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서� 경청하지� 않고� 말할� 타이밍만� 기다리는� 문제를� 제

기함.

C에서는� 이를� 확대하여� "big� egos� have� little� ears"라고�

설명함.

C� →� B

C에서� "big� egos"의� 문제를� 강조하며,� B에서� 이러한� 문

제를� 심화하는� 요인(자신의� 목소리를� 듣고� 싶어하는�

욕구)을� 설명함.

� 핵심� 요약

A:� 우리는� 대화� 중� 자신의� 차례만� 기다림.

C:� 이는� 자기중심적� 태도와� 관련됨.

B:� 이런� 태도가� 더욱� 강해지는� 이유를� 설명함.

70)� 정답:� ①� (A)� -� (C)� -� (B)

정답� 선택지� 분석

A� →� C

A에서� 영양소� 손실� 문제를� 제기함.

C에서는� 인구� 증가로� 인해� 이� 문제가� 심각해진다고� 설명

함.

C� →� B

C에서� 영양소� 보충의� 필요성을� 강조하며,� B에서� 이를� 해

결할� 방안을� 제시함.

� 핵심� 요약

A:� 농업� 생산으로� 인해� 영양소가� 유출됨.

C:� 인구� 증가로� 이� 문제가� 더욱� 심각해짐.

B:� 해결책으로� 인공� 질소� 비료가� 필요함.

71)� .� 정답:� ③

앞� 문장� (②)

Yet� the� benefit� of� making� the� drive� is� $10� in� each�

case.

→� 두� 경우� 모두� 10달러의� 이득이� 같음을� 강조.

삽입� 문장

So� if� the� implicit� cost� of� the� drive� were� less� than�

$10,� a� rational� person� would� drive� across� town�

in� both� cases.

→� 합리적인� 판단이라면� 동일한� 결정을� 내려야� 함을� 논리

적으로� 연결.

뒷� 문장� (④)

But� a� rational� person� reckons� benefits� and� costs� in�

absolute� terms,� not� as� percentages.

→� 삽입� 문장에서� 언급한� 합리적� 판단이� 절대적인� 수치로�

계산되어야� 함을� 강조.

72)� 정답:� ⑥

앞� 문장� (⑤)

They� walked� to� the� offices� of� their� Baby� Boomer�

peers,� emailed� Gen� X� colleagues,� and� texted�

Millennials.

→� 세대별� 다른� 소통� 방식을� 사용한� 사례� 설명.

삽입� 문장

On� the� surface,� this� seemed� fine,� but� it� soon�

started� to� stir� up� some� controversy� because�

people� did� not� understand� why� they� were�

getting� an� email,� when� someone� else� was�

getting� a� face-to-face� conversation.

→� 특정� 세대만� 대면� 대화를� 받는� 것에� 대한� 논란이� 발생

했음을� 설명.

뒷� 문장� (⑦� 없음)

→� 삽입� 문장이� 마지막� 문장이며,� 기존� 내용과� 자연스럽게�

연결됨.

73)� 정답:� ⑤

앞� 문장� (④)

These� discoveries� testify� to� the� advanced� technology�

that� our� ancestors� applied� to� create� music:� the�

finger� holes� are� carefully� bevelled� to� allow� the�

musician's� fingers� to� make� a� tight� seal;� and� the�

distances� between� the� holes� appear� to� have�

been� precisely� measured,� perhaps� to� correspond�

to� a� specific� musical� scale.

→� 초기� 악기가� 정교하게� 제작되었음을� 설명.

삽입� 문장

This� time� period� corresponds� to� the� last� glaciation�
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episode� in� the� Northern� Hemisphere� —� life� could�

not� have� been� easy� for� people� living� at� that�

time.

→� 당시� 환경이� 혹독했음에도� 불구하고� 음악이� 중요한� 역

할을� 했음을� 강조.

뒷� 문장� (⑥)

So,� music� must� have� been� very� meaningful� and�

important� for� them.

→� 음악의� 중요성을� 강조하며� 삽입� 문장의� 논리를� 강화.

74)� 정답:� ④

앞� 문장� (③)

Jewish� graduates� were� often� left� with� few� better�

options� than� to� start� small� firms� of� their� own.

→� 유대인� 변호사들이� 독립적으로� 로펌을� 시작해야� 했음

을� 설명.

삽입� 문장

Those� firms� often� specialized� in� cases� that� the� elite�

law� firms� felt� were� beneath� them,� such� as� the�

litigation� of� hostile� corporate� takeovers.

→� 유대인� 변호사들이� 맡았던� 주요� 사건� 유형을� 구체적으

로� 설명.

뒷� 문장� (⑤)

The� lawyers� raised� by� garment� workers� were� thus�

often� the� only� ones� who� had� developed� the�

expertise� to� capitalize� on� the� explosive� growth�

of� hostile� takeover� litigation� that� occurred� in� the�

1970s� and� 1980s.

→� 삽입� 문장에서� 언급한� 소송� 분야가� 나중에� 큰� 성공을�

거두었음을� 연결.

75)� � 정답:� ⑨

앞� 문장� (⑧)

The� same� phenomenon� occurs� at� the� level� of�

sentences:� students� who� make� the� effort� to�

understand� sentences� on� their� own,� without�

teacher� guidance,� show� much� better� retention�

of� information.

→� 문장을� 스스로� 이해하려는� 노력이� 학습� 효과를� 높인다

는� 설명.

삽입� 문장

This� is� a� general� rule,� which� the� American�

psychologist� Henry� Roediger� states� as� follows:�

“Making� learning� conditions� more� difficult,� thus�

requiring� students� to� engage� more� cognitive�

effort,� often� leads� to� enhanced� retention.”

→� 학습� 조건이� 어려울수록� 기억력이� 향상된다는� 일반적

인� 원칙을� 설명.

76)� 정답:� ③

앞� 문장� (②)

First� of� all,� storms,� droughts,� floods,� torrential� rains,�

and� other� severe� weather� anomalies� could� be�

disastrous� for� a� farming� community� while� posing�

only� a� major� nuisance� to� foragers.

→� 기후� 변화가� 농경� 사회에� 더� 큰� 영향을� 미친다는� 설명.

삽입� 문장

The� latter,� with� their� minimal� light-weight�

possessions,� could� fairly� easily� up� and� move� to�

some� other� area� where� the� damage� was� not� so�

great.

→� 채집민들은� 이동이� 쉬웠기� 때문에� 피해를� 덜� 받았음을�

강조.

뒷� 문장� (④)

By� replacing� their� natural� home� with� an� artificial�

construction,� the� farmers,� paradoxically� enough,�

had� made� themselves� more� vulnerable� to� natural�

disasters;� in� fact,� natural� events� that� were� not� at�

all� disasters� for� the� foragers� became� disasters� for�

them.

→� 삽입� 문장에서� 설명한� 내용이� 농경� 사회의� 취약성을�

강조하는� 방향으로� 연결됨.

77)� 정답:� ④

앞� 문장� (③)

But� even� allowing� nonbasic� terms� and� even�

allowing� the� highly� specialized� vocabulary� of� the�

paint� industry,� the� distinctions� that� languages�

make� in� the� color� space� are� astronomically� small�

in� comparison� to� well� over� 2� million� distinctions�

in� color� that� the� human� eye� can� discern.

→� 인간의� 시각적� 색� 인식� 능력이� 언어보다� 훨씬� 정밀함

을� 설명.

삽입� 문장

Even� in� highly� specialized,� technical� vocabularies,�

the� total� inventory� of� color� terms� in� use� makes�

less� than� one-tenth� of� 1� percent� of� the�

discernible� distinctions� in� color� that� the� human�

visual� system� can� make.

→� 언어가� 실제� 색� 인식� 능력에� 비해� 부족하다는� 논리를�

보강.

뒷� 문장� (⑤)

The� everyday� vocabulary� that� most� people� use� will�

be� one� hundred� times� less� than� that� again.

→� 일상� 언어에서는� 색� 구분이� 더욱� 제한적임을� 강조.

78)� 정답:� ③

앞� 문장� (②)

As� global� demand� for� wool� to� be� used� in� clothing�

and� other� goods� increased,� landowners� sought�

more� grazing� land� to� increase� wool� production,�

so� they� privatized� the� commons,� fencing� them�

off� and� thus� cutting� off� access� to� the� peasants.

→� 공유지가� 사유화되면서� 농민들이� 토지를� 잃었다는� 내

용.

삽입� 문장

By� this� process� of� the� enclosure� of� the� commons,�

peasants� were� cut� off� from� land� that� had� been�

their� primary� resource� for� survival� for� centuries.

→� 공유지� 사유화가� 농민들에게� 미친� 영향을� 명확히� 설명.

뒷� 문장� (④)

Today,� there� are� interesting� correlations� between�

the� physical� commons� of� English� pasturelands�
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and� the� digital� commons� of� the� internet.

→� 현대� 사회에서� 공유지� 개념이� 인터넷으로� 확장됨을� 연

결.

79)� 정답:� ②

앞� 문장� (①)

Too� often,� we� pretend� to� be� listening� while� our�

mind� is� racing� in� trying� to� think� of� something�

clever.

→� 사람들이� 듣는� 척하면서� 사실상� 말할� 내용을� 생각하는�

문제점� 설명.

삽입� 문장

However,� being� clever� is� not� being� wise.

→� 듣기와� 지혜로운� 대화의� 차이를� 강조.

뒷� 문장� (③)

In� addition,� to� exacerbate� our� narcissistic�

tendencies,� there� is� also� the� kind� of� listening�

with� half� an� ear� that� presumes� that� we� already�

know� what� the� other� person� is� going� to� say.

→� 주의� 깊게� 듣지� 않는� 또� 다른� 문제점을� 설명하며� 흐름�

연결.

80)� 정답:� ⑦

앞� 문장� (⑥)

The� food� required� to� feed� all� of� us� requires� a� lot�

of� nitrogen� to� be� removed� from� farms,� and� it�

needs� to� be� replaced,� or� the� soil� bank� account�

of� nitrogen� will� run� out.

→� 질소� 공급이� 지속적으로� 필요함을� 설명.

삽입� 문장

This� means� feeding� the� world� requires� industrially�

produced� nitrogen� fertilizer,� at� least� for� the�

foreseeable� future,� until� we� figure� out� a� safe�

and� effective� way� to� return� the� nutrients� passing�

through� humans� to� the� farm� soil� whence� they�

came.

→� 질소� 비료가� 필요한� 이유와� 대안� 가능성을� 설명.

81)� 정답:� ①� relative� /� absolute

82)� 정답:� ②� unintentional� /� increased

83)� 정답:� ②� profound� /� cultural

84)� 정답:� ②� specialized� /� significant

85)� 정답:� ③� meaningful� /� increased

86)� 정답:� ①� increasingly� /� growing

87)� 정답:� ①� visual� /� linguistic

88)� 정답:� ②� privatization� /� dominant

89)� 정답:� ②� narcissistic� /� heightened

90)� 정답:� ②� industrial� /� increasing

91)� 정답:� ①� cataloged� /� willing� /� making

92)� 정답:� ①� making� /� intriguing� /� applied

93)� 정답:� ①� immigrated� /� rejected� /� to� start

94)� 정답:� ①� rhyme� /� processed� /� spelling

95)� 정답:� ①� retention� /� states� /� requiring

96)� 정답:� ①� posing� /� depended� /� replacing

97)� 정답:� ①� are� labeled� /� allowing� /� make

98)� 정답:� ①� used� /� used� /� fencing

99)� 정답:� ①� racing� /� presumes� /� wishing

100)� 정답:� ①� express� /� taken� /� returned

101)� 정답:� ①� lived� /� required� /� feeding

102)� But� a� rational� person� reckons� benefits� and�

costs� in� absolute� terms,� not� as� percentages.

103)� � On� the� surface,� this� seemed� fine,� but� it� soon�

started� to� stir� up� some� controversy� because�

people� did� not� understand� why� they� were�

getting� an� email,� when� someone� else� was�

getting� a� face-to-face� conversation.

104)� These� discoveries� testify� to� the� advanced�

technology� that� our� ancestors� applied� to� create�

music:� the� finger� holes� are� carefully� bevelled� to�

allow� the� musician's� fingers� to� make� a� tight�

seal.

105)� Sometimes,� even� seemingly� unlucky� starts� turn�

out� to� make� long-run� success� more� likely.
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106)� This� is� a� general� rule,� which� the� American�

psychologist� Henry� Roediger� states� as� follows:�

"Making� learning� conditions� more� difficult,� thus�

requiring� students� to� engage� more� cognitive�

effort,� often� leads� to� enhanced� retention.“

107)� By� replacing� their� natural� home� with� an�

artificial� construction,� the� farmers,� paradoxically�

enough,� had� made� themselves� more� vulnerable�

to� natural� disasters;� in� fact,� natural� events� that�

were� not� at� all� disasters� for� the� foragers� became�

disasters� for� them.

108)� Our� perceptual� experience� is� rich,� but� our�

language� comes� nowhere� close� to� that� richness.

109)� Today,� there� are� interesting� correlations�

between� the� physical� commons� of� English�

pasturelands� and� the� digital� commons� of� the�

internet.

110)� � The� reason� listening� can� be� so� difficult�

appears� to� be� our� narcissistic� disposition.

111)� The� bank� account� analogy� helps� express� why�

increased� agricultural� production� must� be�

accompanied� by� fertilizer� use.

112)� This� means� feeding� the� world� requires�

industrially� produced� nitrogen� fertilizer,� at� least�

for� the� foreseeable� future,� until� we� figure� out� a�

safe� and� effective� way� to� return� the� nutrients�

passing� through� humans� to� the� farm� soil�

whence� they� came.


